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0 Opening

Mr. Ozaki (Senior Advisor, Institutefor International Cooperation, JICA):

Sorry to have kept you waiting, we will now begin. Thisisa JCA’s Institute
for International Cooperation Seminar (IFIC Seminar) and | am a senior advisor
to JCA. Itisagreat honor for me to introduce the lecturer and to be a moderator
of thisseminar. We are very grateful to have Dr. John Bongaarts, the Vice President
of the Population Council from New York with us. Dr. Bongaarts has come all
the way to Japan and has taken time out of his very busy schedule to attend this
IFIC Seminar. | would like to extend my heartfelt gratitude to Dr. Bongaarts. As
| believe that you have already known about Dr. Bongaarts and the Popul ation
Council, | do not really need to give you alengthy introduction. The Population
Council was established by John D. Rockefeller 39in 1952, and it isan ingtitution
with along history and great achievements. Since the end of world war 11, alarge
number of Japanese demographers have visited there. Dr. Bongaartsis the Vice
President of the Policy Research Division and heisrenowned for his many papers.
He has contributed a great deal to the devel opment of population studies through
his numerous papers. He studies popul ation issues from different points of views
such as those of environment, food and development, which would give him
objective and well-balanced understanding of the issues. So we are honored to
have this opportunity to invite Dr. Bongaarts and hold a seminar on “Future
Population Trends and Problems”. He will be speaking for about 50 minutes and
then we would like to take as much time as possible for questions and answers. |
hope that al of you will avail yourselves of this opportunity. Handouts each of
you have are what Dr. Bongaarts has prepared for thislecture; oneis main points
of the lecture and another is graphs, which he will be showing by slides during
the lecture. | think these are very valuable and useful information and also that
they will help you follow the lecture more easily.

Dr. Bongaarts, could you please start?



Ll Lecture

Dr. Bongaarts (Vice President, Population Council):

Thank you very much for the kind introduction. It isarea pleasure to be here
and I'm very grateful for your invitation to come to Japan and to talk to you today.
Asyou have just heard, my presentation will be about future population trends
and problems. As you probably know, the world and most of its regions have
experienced extremely rapid demographic change. In fact, this demographic
change has happened more rapidly than in any previous period in human history.
The most obvious example of changeis of course, theincrease in human numbers.
The population of the world now stands at 6 billion; that is 3 billion more than in
1960, and population growth continues. But there are a number of other important
trends. Women around the world are having fewer children and they are using
more contraception, people are living longer and healthier lives, an increasing
number of migrants move from rural to urban areas and from one country to
another. And an important new population trend, particularly in the devel oped
world, isaging.

When we look at population problems, we are not focusing just on population
size done, but on awide variety of problems that are all labeled population in
some way or other. In my presentation, | will touch on anumber of these issues.

Thetopicsthat | will cover today are the following: 1) population growth, 2)
urbanization, 3) planned and unplanned pregnancies, 4) contraceptive choice, 5)
maternal mortality, 6) the AIDS epidemic and 7) population aging. Itisalong list
but | will try to cover in each case, very briefly, the main trends associated with
the topic, the reason why thisis an important issue or problem and what we can
do about it: population policy options for addressing the problem.
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1) Population Growth
Let me start with thefirst topic: population growth, which is perhaps the most

familiar issue.
Figure 1: World Population Size
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Infigure 1, | summarize long-range trends in world population size from 1800
to 2000, and then the projection from 2000 to 2100. World population stood at 1
billionin 1800, it grew only slowly through the early part of this century, to 2.5
billion in 1950 and then accel erated. Today, we stand at 6 billion, and the United
Nations, the World Bank and all other agencies making projections expect growth
to continue until it eventually reaches about 10 billion. | would like to make two
points about this. The first is that nearly all of this growth will occur in the
developing areas of Africa, Asiaand Latin America, and growth in the devel oped
world will be essentially flat. As| will discussin a moment, some parts of the
developed world will even see decline. The second point isthat we are still today
on the steep part of this curve. Population growth has been rapid in recent decades
and the projectionisthat thiswill continuefor at least another two decades because
we are adding about 75 million people every year. You probably have heard that
the growth rate is declining and it is true that the annual growth rateis less now
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than it used to be twenty or thirty years ago. That is because women are now
having fewer children than in the past. But the growth rate is being applied to an
ever expanding base so the absolute increase every year in population, is now
almost aslarge asit has ever been. This is the picture for the world as awhole.

Figure 2: Population Trends by Region
1950-2050
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Figure 2 gives the same information, but now broken down by major regions.
The mgjor regions are put in the order of population size. Asiaisby far the largest
region. It includes at the moment about 3.7 billion people, which is more than the
rest of the world together. These 3 bars here are for 1950, 2000 and 2050. Asia’s
population stood at 1.5 billion in 1950. It more than doubled to 3.7 billion today,
and the United Nations projects another 1.6 billion by 2050. Africais a much
smaller region; it started at just .23 billion in 1950. But, it more than tripled in
size over the past half century, and now stands at about 3 quarters of abillion.
The expectation is that population will double again by the year 2050, and this
doubling is expected despite the fact that this region is heavily affected by the
AIDS epidemic. Latin Americais still smaller and it is expected to grow by the
lowest amount, about 50 percent. So the total growth in these devel oping regions
isroughly 2 billionin Asia, 1 billionin Africaand relatively small amountsin the
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remaining regions.

The three major regions of the developed world, Europe, North America and
Japan, all grew over the last 50 years, but grew rather modestly. Europe today
stands at about 725 million and it is expected to see adecline of over 100 million.
North America stands at about 280 million and it is expected to see an increase of
about 100 million. Japan is about 127 million and it is expected to see adecrease
of about 20 to 25 million. So in the developed world, we see a divergence: some
regionswill see adecline and some an increase, namely North America, Australia,
New Zealand, and Canada. These increases are offset by declines in Europe and
Japan. The overall pattern of the developed world is relatively flat therefore and
most of the global growth will occur in the developing world.

This growth is problematic for a number of reasons. The most important and
most familiar adverse effect of rapid population growth isits environmental effect:
degradation of natural resources, by which | mean deforestation, reduction in
biodiversity, water depletion and so on, and air, water and soil pollution, including
the increase in greenhouse gases, which results in global warming. But these
familiar environmental effects are complemented by economic effects. One effect
of alarge and growing population is that the competition for alimited number of
jobs among the many unemployed keeps pressure on wages. Low wages and
high unemployment in turn contribute to poverty and slow economic growth.
Thefinal important impact is on the governmental level; many governments are
not able to cope with large additions of new people. Investments in education,
schooling, health services, infrastructure, housing, roads and so on are not keeping
up with the number of people and that in turn means an over-burdened
infrastructure. It isthese adverse effects that make it important to address rapid
growth. At the end of my presentation, | will review population policy options.
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2) Urbanization

| would like to turn now to the second topic: urbanization. Urbanization is, of
course, a natural result of development. People move from rural areas where
agriculture isthe dominant activity to the cities in search of new jobs and a better
life. We have seen this process throughout the world.

Figure 3: Urbanization Trends
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Asfigure 3 shows, in the developed world, the level of urbanization in 1970
stood already at 70%. It is growing to 75% today and is expected to increase
further. So we already have ahigh level of urbanization in the developed world.
In the developing world, only a quarter of the population lived in urban areasin
1970, it has risen to about 40% today and is expected to reach close to 60% in the
next 30 years. So urbanization is proceeding a avery rapid pacein the developing
world. Infact, it isgrowing so rapidly that the population in the rural areasis now
expected to stop growing.
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Figure 4: Urban and Rural Population Size
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Here (in figure 4) are the trends in the urban and the rural populationsin the
developing world. In the past, both of these populations wererising, but the United
Nations now expectsthat in the future, rural population growth will be relatively
flat, while at the same time urban growth expands substantially. This has an
important implication which is this: in the past, population growth was absorbed
in both the developed and devel oping world and both rural and urban populations
grew. As| showed you, the population in the devel oped world has stopped growing.
In addition, Figure 4 shows that the population of therural areasin the developing
world is expected to stop growing which means that the next 3 billion people are
going to live in cities in the poor countries. Most of these countries and cities
don’t have the resources and ability to absorb thislargeinflux of people. Many of
these peoplewill end up living in lum areas, in poor housing, with limited services,
and limited infrastructure and that in turn has important implications for welfare,
and for arange of health, social and economic issues. That is clearly a problem.

3) Planned and Unplanned Pregnancies
| turn now to the third topic, which is planned and unplanned childbearing.

Over the past few decades, we have seen arevolution in reproductive behavior
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throughout the world. In the 60s, in the developing world, few women used
contraception and women on average had 6 or 7 children. Today, more than half
of al couples practice contraception and the number of children per family is
down to 3 rather than the traditional 6.

Figure 5: Fertility Trends
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Figure 5 shows how these trends have evolved. I'm giving you the number of
births per woman, in the past 50 years and then the projections to 2050 by the
United Nations. InAsiaand Latin Americain the 50s, women gave birth to around
6 children. Around 1970 a very sharp decline began that continues today. Today
these regions have afertility level of about 2.5 births per woman and the UN
expectsthisdeclineto continue until it eventually reaches about 2 births. In Africa,
fertility was higher in the past, closeto 7 births, and the delay in decline has been
substantial, but it is now underway in East, North and South Africa. The United
Nations expects this decline to continue rapidly and spread throughout the
continent in the future. | have also included here the trends in fertility for North
America, Europe and Japan. North America experienced a baby boom in the
1950s with fertility reaching nearly 4 births per woman, and then a very sharp
decline, the baby bust of the 70s. Fertility has now moved back to about 2 births
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per woman and the UN expects that it will stay roughly at thislevel. Finaly, |
will move on to Japan and Europe. Although both regions already had low fertility
in the 50s and 60s, it has dropped further and today both Europe and Japan have,
on average, about 1.5 births per woman. The United Nations expects that this
fertility level will not drop further. They even expect adlight increase in fertility
in Japan and Europe, which isabit of a controversial issue but | think it isnot an
unreasonable expectation. The reason why | say that is that in most of these
countries women in fact want more than one child on average. If you ask women
in Europe or even in Japan, | think, even though | don’t know the latest data for
Japan, women typically want 2 children. So there is reason to believe that if
women are able to implement their preferences, they will have more children
than they have at the moment.

Figure 6: Trends in Contraceptive Use by Couples
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The reason why this fertility change has occurred is that there has been avery
rapid adoption of contraception. Figure 6 shows trends for the developing and
the developed world in the percent of couples using contraception. In the
developing world this percentage was very low in the 1950s and 60s. It rose very
sharply and today nearly 60% of all couples practice some form of contraception.
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In the devel oped world contraception was aready quite high in the 1950s, but it
has risen further and now stands at about 75%. So the gap between the developing
and the developed world is closing very substantially, but there are still some
differencesremaining. Thisisbasically good news. Women are increasingly using
contraception and getting more control over their fertility. But at the moment, we
still are, unfortunately, along way from fulfilling all the demand for contraception.

Figure 7: Met and Unmet Need for Contraception
Developing World
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Figure 7 shows a critical issue. In every country there is more demand for
contraception than actual use of it. In the 50s and 60s, the demand for contraception
was low and so was the use of contraception. Over time, the demand for
contraception has risen and current use has aso risen but it hasn’t risen asfast. So
there remains a gap between these two factors which is referred to as an unmet
need for contraception. This means that substantial numbers of women who do
not want to get pregnant are not practicing contraception. That is about onein six
women. Because of this unmet need, there are unplanned pregnancies; women
who do not want to get pregnant but don’t use contraception get pregnant and
they have unplanned births.
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Figure 8: Planning Status and Outcome of
Pregnancies Developing World
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Figure 8 summarizes the dimensions of this particular problem. The overall
size of this bar gives the total number of pregnancies in the developing world
each year; that isalittle bit over 150 million. On the left side, | have given the
planning status of these births, as either unplanned or planned. The outcome of
each of these pregnancies is abortion, or unplanned or planned birth. Now, of
course, al planned pregnancies end in planned births. But unplanned pregnancies
can either end up in abortion or in an unplanned birth. About 40% of all
pregnanciesin the devel oping world are not planned. About half of these unplanned
pregnancies end up in abortion and the rest in unplanned birth. Thisis clearly a
problem. The obviousway to reduce fertility further isto help these women avoid
their unplanned pregnancies which can be done by providing more information
about contraception and more access. There are many governments that are now
trying to do this throughout the devel oping world. They have implemented so-
called family planning programs, but of course, resources are not always sufficient.

4) Contraceptive Choice
| turn now to the next topic: the choice of contraceptive methods. There are

more than a dozen different means of contraception, but most societies have
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selected just afew of these methodsto use. We see awide diversity of patterns of
usein different regions in different countries.

Figure 9: Contraceptive Methods Used
by Married Women
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Figure 9 shows the different methods: female sterilization, male sterilization,
IUD (Intrauterine Device), the pill, the condom and traditional methods. The
right bar gives the results for the developing world in the mid-nineties. By far the
most widely used method is female sterilization, about 40% of users. Male
sterilization is under 10%. The IUD is the second most widely used method and
the pill isthe third. Interestingly, traditional methods are relatively rare in the
developing world; fewer than 10% of couples use traditional ones. That'sin the
developing world. If you now look at the devel oped world, which is the next left
bar, we see a completely different pattern. Sterilization is much less widely used
than in the developing world. While the percentage use of male sterilization is
about the same as that in the developing world, 1UD use is much lower and the
pill, the condom and traditional methods are much more common in the developed
than in the devel oping world. If you look further, within the developed world, the
US has alevel of sterilization similar to that of the developing world. It also
relies heavily on female sterilization, but there isamost no IUD use in the US
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and asubstantial level of pill and condom use with alittle of traditional methods.
Japan has avery different mix. By far the most widely used method isthe condom,
and al the other methods have relatively few users. | have examined similar data
for different countries.

Figure 10: Countries with Highly Skewed Method Mix
Sterilization Pill UD Condom
India (75%) Algeria (85%) Korea DPR (78%) Japan (78%)
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Source: Un 1999 m

Asfigure 10 describes, in a number of countries, we see an extremely skewed
method mix. More than half of al usersrely on sterilization in India, China and
the United States. More than half of al usersrely on the pill in Algeria, Germany
and Zimbabwe. More than half of all usersrely onthe lUD in Korea, Egypt and
Vietnam. And more than half of all usersrely on the condom in Japan.

This degree of skewed-ness of course, is hot desirable but before we can do
anything about it, we should understand why it is happening. A number of factors
contribute to thisvery skewed method mix. Thefirst and probably most important
of thesein most countriesis simply the lack of availability of arange of methods.
If women do not have access to methods they cannot use them. In most countries
availability is determined by government programs, that provide contraceptive
services. Governments typically choose just a few methods simply becauseitis
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less expensive and they often use sterilization, the pill and/or the lUD. Regulations
are also a problem in some countries where some methods are s mply not accepted
by governments. Providers' bias can be an issue, too. Doctors or providers may
decide for one reason or another, only to make one method available, and to
encourage women to use a single method. Sometimes that is done for financia
reasons. Most methods have drawbacks that discourage some users from using
them. In fact, we do not have a single method that is seen as desirable by all
users. Every one of our current methodsis problematic to some extent. In addition,
it is often discouraging to find that a country, once it has begun using a particular
method, will stick largely with this method. This is one reason why traditional
methods are still so widely used in the devel oped world today. These countries
all had already high levels of contraception before modern methods appeared
and they continue to use these traditional methods today despite the fact that we
now have better modern methods. As| showed you in the previous graph, modern
methods are more widely used in the developing world than in the developed
world, which is surprising. The last reason for the very skewed method mix is
the user’s characteristic. For example, in Africa today, many women want to
space children rather than have fewer children. Of course, if you are interested in
spacing, then you don’t want sterilization. So sterilization in Africais relatively
little used because women want to space their children. These obstacles should
be removed so that women can have more choices which in turn should help
reduce the high level of unmet need and unplanned pregnancies.

5) Maternal Mortality

The next topic | want to briefly touch on is maternal mortality. The death of a
mother is, of course, atragedy. It is not just the death itself which is tragic but
also thewoman’s family, her children and those who depend on her who are often
very badly affected. It is estimated that each year, 600 thousand women die from
pregnancy related complications. This usually occurs during birth but also during
abortion. Therisk of death from pregnancy and delivery varies very widely among
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societies. A woman hasa 1 in 6 risk of dying in pregnancy in Africa, 1in 65in
Asig, 1in30inLatin Americaand 1in 3,700 in North America. So thisisclearly
amuch more serious problem in the poorest countries.

What can be done about this? First of all, providing contraception helps avoid
pregnanci es that women do not want and that onewill directly affect the number
of maternal deaths. Antenatal care isimportant because in poor countries most
women don’t see a doctor or have any contact with the health services, not even
during a pregnancy when it is obviously desirable. Safe abortion servicesis
something that clearly would reduce maternal deaths, because about 1in 3 maternal
deaths is associated with abortions that are often done in unsanitary conditions.
Finally, perhaps most important, is the prompt management of obstetric problems.
When awomanisin labor and has bleeding or other problems, she needsimmediate
attention. She needsto be transported to ahospital and under the care of aphysician
who can manage these problems. Thisis, of course, difficult in many rural areas
where people live far away from services, and for that reason these mortality
rates are quite high.

6) AIDSEpidemic

| turn now to one moretopic: the AIDS epidemic. Before going into the specifics
of the AIDS epidemic, | would like to say a few words about broader trends in
mortality because | think they are important. The standard way demographers
measure health conditions is to measure life expectancies, which is the average
number of years that a newborn person lives.
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Figure 11: Life Expectancy Trends
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We have seen very dramatic improvements in health conditions over the last
50 years as shown in figure 11 for al regions of theworld. In Africa, in the 1950s,
the average person lived only about 35 years, avery short life. That hasrisen to
about 50 yearstoday. Asia has seen a more dramatic increase from about 40 years
to 65 today, Latin Americafrom 51 to about 70 years. Intheindustrialized world,
Japan, North America and Europe already had relatively high levels of life
expectanciesin the 50s but they have risen further. Japan is now the world record
holder with life expectancy of about 80 years. North Americais not far behind.
Europeisalittle bit lower because it includes Eastern Europe and the ex-Soviet
Union where there have been drastic declinesin life expectancy in a number of
places. All of these trends are expected to continue over time. All of this, of
coursg, is good news and very much desirable, but there is one problem here. You
can seeinfigure 11 that in Africa, the life expectancy trend has come to a halt as
aresult of the AIDS epidemic.
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Figure 12: Global Estimates of HIV/AIDS epidemic
1999
Number infected with HIV 34 million
New infections with HIV 5.4 million
New AIDS deaths 2.8 million
AIDS orphans (total) 13.2 million
Source: WHO 1991; UNAIDS 2000 m

TheAIDS epidemic is being tracked carefully by the World Health Organi zation
and other institutions. Figure 12 shows some basic statistics that many of you
probably have seen in the newspaper. In 1999, it is estimated that there were 34
million people infected with the HIV virus. The number of new infections per
year is5 million, so the total is going up very rapidly. The number of new AIDS
deaths each year is estimated at almost 3 million; that is about 5% of deaths
worldwide. Because AIDS mortality often strikes adults in the central years of
their lives, there are alarge number of AIDS orphans, an estimated 13 million.
These are global statistics but one feature of this epidemicisthat it varieswidely
insizein different societies.
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Figure 13: Percent of Adults Infected with HIV in 1999
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Figure 13 plots the percent infected among al adultsin different regions of the
world. Theworld average isabout 1.1 percent, that is, 1.1 percent of adults are
infected with the AIDS virustoday. In North America, the average is about half a
percent and it is more or less stable. In Europe, it is about a quarter percent and it
isalsofairly stable. Latin Americais about seven tenths of apercent and relatively
stable. Japan with its fraction of apercent has one of the lowest infection levelsin
the world. East Asia has about two tenth of a percent. In South and Southeast
Asig, itisabout six tenths of a percent but it is growing here. So in most of these
regions, the virus is not spreading widely. In South and South East Asia, the
epidemicis till at arelatively low level but it is growing, particularly in India,
and the fear is that this virus will spread. Because Indiais such alarge country, a
further spread will, of course, infect many people. But compared to all of these
regions, it is obviousthat by far the largest epidemic is now found in sub-Saharan
Africa A little over 8% of adults are infected in this particular region. | want to
focus now briefly on the African AIDS epidemic because it is so central to the
global picture. Here isamap of Africain figure 14.
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Figure 14: Percent of Adults Infected in
African Countries

Percent infected
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B) =3 =High (10-15%)
C) 3 =Medium (5-10%)
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Source: UNAIDS 2000 .I Prpubnia Dol

It indicates the level of infection with the virusin each country in the region.
The highest level of infection, over 15%, isin South Africa, Namibia, Zimbabwe,
Zambia, Botswana, Swaziland, Lesotho and Malawi shown asregion A). Region
B, East Africa, hasinfection levels of 10 to 15%. C) indicates the medium level
between 5 to 10%. Most of Northern and Western Africa (region D) still has a
relatively low level of infection. What is clear from this map and similar world
maps is that this virus is not randomly distributed. This virusis focused very
heavily on one set of countries and affects other countries much less. The question
iswhy this epidemic is so concentrated in afew countries and not in others.

There is a debate about thisissue, but here are the main factors that | believe
areresponsible for this variation in the size of the epidemic. First of al, variation
in the timing of the onset of the epidemic: a country in which the virus entered
early tends to have a higher level of epidemic now than a country in which the
virus entered later. This factor was important in the 80s and early 90s, but it is
less important now because the virus has been around for 20 to 25 years. So the
variation among countriesis now less determined by the timing of this epidemic.
A critical factor in the epidemic is sexual behavior. The more extramarital sexual
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contact thereis, the morerapidly the epidemic spreads. In countrieswhere everyone
lives in monogamous unions you don't get alarge AIDS epidemic. The more
condoms are used, the less the epidemic spreads. The prevalence of other sexually
transmitted diseases (STDs) is an important factor that acts as a co-factor. If a
country hasahigh level of STDs, itisaso likely to have alarge AIDS epidemic,
because these other diseases facilitate the transmission of the HIV virus. And
finally, male circumcision is probably a key factor. Thereisavery clear inverse
correlation between the level of male circumcision and HIV infection. Countries
that have ahigh level of circumcision have small epidemics. Countries that have
alow level of male circumcision tend to have larger epidemics. It isvery difficult
to attribute the proportion of variation among countries to each of these factors.
But I think all of these factors contribute and if we could measure each of them,
we would almost certainly explain most of the variation. Of course, each of these
factors can point usto asolution to this epidemic: less extramarital sexual behavior,
more condom use, control of STDs and male circumcision. These measures can
help stop the epidemic.

Figure 15: Death Rate from AIDS and Other Causes
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AIDS, aswe know, isafatal disease. We don’t have a cure or avaccine for it.
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In figure 15, | show the effect of the AIDS epidemic on the death rate in a
population. Thisisgiven for each of theregions. The death rate is measured as
a percent of the population per year, so, in North America, Europe and Latin
America, roughly 1 percent of the population dies each year. In Southern Africa
about 1.3 percent of the population dies and that number has now risen by about
20% because of the AIDS epidemic. So mortality has clearly jumped as aresult
of the AIDS epidemic and it is rising over time.

Figure 16: Death Rate with and without AIDS
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Figure 16 showsthe trend from 1990 to 2005. In the early 90s, the death ratein
Africawas about 2 percent and a small proportion was dueto AIDS. By the late
90s, theimpact of AIDS had doubled and mortality is still growing. As | showed
you earlier, the epidemic varies widely in size among countries. | have picked
one country to demonstrate: Botswana, which is particularly hard-hit. In that
country, the death rate was less than 1% in the early 90s but you can see the
dramatic impact of the AIDS epidemic in this country. In Botswana, the death
rate is now 4 times as high aswould be expected in the absence of the large AIDS
epidemic. So there is avery dramatic impact on the death rate. When the death
rateis affected, life expectancy is also reduced.
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Figure 17: Life Expectancy Trends in Africa
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In figure 17, | show you that the trend in Africafor life expectancy has been
rising and then stopped. Countries in Southern Africa, that is, South Africa,
Namibiaand neighboring countries, had adlightly higher level of life expectancy
than average for Africa until the early 90s but it then rapidly declined: a decline
of about 15 yearsin life expectancy. Thislevel of impact is unprecedented. The
UN expects this decline to end or stabilize by 2010 and then turn upward. This
projection is, at the moment, | think, very speculative and while thereis reason to
believe that there will be improvement it will perhaps not be as much as the UN
expects. In any case, these are the projections that the United Nations makes
today.

7) Population Aging

I now turn to the last topic: one that is particularly important for Japan and
other developed countries. That is population aging. Population aging is an
inevitable result of past increasesin life expectancy. When people live longer,
there aremore ol der people. But the aging of the population isaso very importantly
driven by reductionsin fertility. Because women are now having fewer children,
there are fewer young people and therefore the ratio of old to young people rises.
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Let me start by showing you how different the age structures of population are.

Figure 18: Population by Age, 2000
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In figure 18, the red bars represent the devel oping world. Each bar represents
one age group from 0-4 to 70-74. You can see that the red bars are all larger than
the green bars which is simply because there are many more people in the
developing world than in the developed world. But it is also clear that the red
bars are much longer for the younger than for the older population. In the
developing world, half the population is under age 25, which is a very young
population. The green bars here represent the developed world, which is a flat
distribution, with pretty much the same number of people in every age group.
Thereisalittle bump in the middle, the result of the baby boom in the 1950, but
pretty much, it isflat.
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Figure 19: Population by Age: Developing World
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In figure 19 | plot the age structures of the developing world from 1950 to
2050, and you can see how the shape changes over time. In 1950, the population
was very young, shaped as you saw before. The same thing is seen until 1975,
that is, avery young age structure with alarge number of additionsto the youngest
age group, as aresult of high birth rate. Then by the year 2000, the shape begins
to change with a smaller number of additionsin the youngest ages because fertility
isdropping. The larger increases occur in the older age groups and that is the
case even more in 2025 and then in 2050. Over time we go from a young age
structure to an older age structure. Thisis going to happen in every country in the
world. The problem is that the older population, people over 65, need support
when their health deteriorates and when they are no longer able to support
themselves. Hereis another way to measure the degreeto which aging is occurring.
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Figure 20: Old Age Dependency Ratio
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In Figure 20, | measure aging by the so-called old age dependency ratio. The
old age dependency ratio is the number of people over age 65 compared with the
population in the labor force ages. 1n Japan, today the old age dependency ratio is
0.25, which means that thereis 1 person over 65 for every 4 people between the
ages of 15 to 65. That number isrising very rapidly and by the year 2050 it will
be more than 0.5; that means more than 1 person over 65 for every 2 peopleinthe
labor force ages. And that, of course, will impose a very important stress on the
social security system. Japan isaging the most rapidly of al the nations, principally
due to its low fertility and Japan is the world record holder in life expectancy
which also contributes to aging. In the developing world, Latin America, Asia
and Africa, today aging is not much of an issue. The old age dependency ratio is
less than 10%. But in every one of these regions, particularly in Latin America
and in Asia, the elderly population isincreasing and that is becoming more of an
issue for three reasons. The first is that the elderly in the poor countries almost
entirely rely on their families. And these families are now getting smaller because
fertility is dropping and because children often move away from home. They
move to the cities and they are not necessarily available to assist the family. The
second reason isthat there is no public support in poor countries. Thereis neither
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asocial security system nor health care system in the way we know them herein
Japan, in Europe and in the North America. And the third reason is that the poor
elderly tend to have poor hedlth, beilliterate, have few savings and generaly, are
much less able to take care of themselves, than is the case in the devel oped world.
In any case, aging is the big problem in the advanced industrialized countries,
which iswhy it isnow an issuethat policy makers are becoming concerned about
it. What can be done about it? Here are sets of options that can be pursued. First,
there is a set of so-called demographic options, which try to change the age
structure itself. The first one of these is to encourage childbearing. Women are
typicaly having around 1.5 children. If fertility were to go up alittle higher to 2
or 2.5, that would in the long run certainly reduce the problem of aging. Increasing
migration isanother option. We can bring in younger families from other countries
to strengthen the labor force and to provide services and taxes to support the
elderly. These options | think by and large are difficult to pursue and they will not
take care of the problem by themselves. This is why most countries are now
looking at adjustment options. These operate in the pension system by increasing
the contributions made by the labor force and reducing the support given directly
to the elderly. Similarly, the health care system is put under stress because the
elderly need a great deal of care and that needs revision. It is aso important to
make adjustments in the workplace where in many countries people have afixed
retirement age, at 60, 62 or 65. In some developed countries such as the US, the
age limit has been removed so that people can work longer. The longer they
work, the longer they contribute through taxes and the less they depend on the
social security system. So, encouraging a later age at retirement is desirable.
Finally, the family is till an important source of support in most areas, evenin
countries in the developed world. That is why providing the family with some
support is an option that governments should pursue more. In some countries, tax
benefits are already given to families that support their elderly.
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Conclusion
Why Population Growth Continuesin the Developing World

In conclusion, | will now turn back to the issue with which | started, the issue
of rapid population growth in the poor countries of the world. | am often asked
the question, why is population growth still a problem if fertility has dropped so
much. And if we have such alarge AIDS epidemic, isn't this population problem
taken care of ? The answer is no. This problem has not gone away and there are
three reasons why thisis so. Thefirst reason isthat fertility remains above the so-
called replacement level. Replacement level is 2 children per family, that is, the
level consistent with long-range zero population growth. Every family replaces
itself every generation. Now it istrue that fertility in the developing world has
dropped from about 6 children to about 3 children per family today. But 3 children
is till 50% higher than 2 children and as long as women are having more than 2
children, population growth will continue. This is the first factor. The second
factor is declining mortality. In most devel oping countries, mortality isimproving
and life expectancy is increasing. The exceptions are those countries that have
been hit hard by the AIDS epidemic. But in virtually all countries, declining
mortality is afactor that contributes to population growth. Finally, the third and
now the most important reason why population growth continues is population
momentum. Population momentum refersto atendency of population to continue
growing after women have achieved a two-child family. The reason why
momentum exists is ayoung age structure. For example, in Africa, today half the
population is under the age 18 and these boys and girls over the next few decades
will all move through the reproductive years. |f they only have two children
each, there will be so many bhirths that population growth will continue to be
quite high. Population momentum now accountsfor over half of future population
growth in many of these countries, including India and Bangladesh.

Population Palicy Options for Addressing the Problem
Now, what can be done about this? Here are the three options available to
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address rapid population growth. Thefirst of these optionsisto strengthen family
planning and reproductive health programs. As | showed you earlier, thereis still
a high level of unmet need for contraception that results in alarge number of
unplanned and unwanted pregnancies. The key reason for this is that women
don’t have access to contraception or they have not enough information about it.
And the solution is to provide services and information to let these women
implement their preferences. Governmentsin many developing countries already
have programs in place but in many countries these programs are inadequate and
many women still do not have proper access to contraception. The second factor
that would help address population growth is to invest in human capital,
particularly in education, and to improve the status of women. In every country
for which we have information, we find that the better educated and higher status
women want small families and they are better able to control their fertility than
poor women who are less educated. So thisisacritical factor. And finally, there
isthe question of how to address population momentum. The age structure cannot
be changed quickly, but by delaying childbearing, momentum can be reduced.
This of course, raises the question how to delay childbearing. Well, that is not
easy to do, but addressing the needs of adolescentsis an important step. Many
adolescents are now getting pregnant when they don’t want to get pregnant. So
we should provide contraception if it iswanted. If we keep girlsin school longer
they will have fewer children and they will have them later in life. And if we
provide women with job opportunities, that also will help not only the women
directly but society aswell because of the larger demographic implications. If we
implement these options vigoroudly, then | think we could make alarge difference
to future population growth.

-36 -



Figure 21: World Population Projection Variants
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Infigure 21, | summarize for you the so-called population variants of the United
Nations. Up to this point | have discussed the medium variant projection of the
United Nations, which sees population growth going from 6 billion today to near
10 hillion in 2100. But of course, we don't know what is going to happen, so the
United Nations also has produced so-called high and low variants. The high variant
sees a possibility of having 17 billion people in the year 2100. The low variant
sees popul ation growing to about 8 billion and then declining. So thereisawide
range of possible trajectories for population. The important point to remember is
that these differences between the high and the medium variants, and the medium
and the low variants, can be achieved by very small changesin fertility. In the
medium variant, the United Nations assumes that women on average have two
children each in the long run. In the low variant, women have just half a birth
fewer. And in the high variant, women have one-haf birth more than the medium
variant. So the future trgjectory of population is very sensitive to small changes
in fertility. Roughly speaking, every one tenth of abirth less per woman reduces
the population of the world by one hillion. We have a high degree of leverage by
implementing the policy optionsthat | mentioned toyou. | think itisvery desirable
for usto pursue these options.
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Let mejust conclude now, by saying that we are obvioudy facing alarge number
of what are loosely called population problems. | have talked about rapid
population growth, urbanization, unplanned pregnancy, unmet need for
contraception, maternal mortality, the AIDS epidemic and population aging. All
these trends have adverse effects on human welfare and on the environment. The
good news is that in most cases we have interventions that can address these
problems. We know in most cases what we can do to alleviate these problems.
What is lacking at the moment is the political will and resources to implement
these interventions. More collaboration between governments and non-
governmental organizations in the developing world and the international
community will also help alleviate these problems. Thank you very much.

Mr. Ozaki:

Thank you very much Dr. Bongaarts. He just arrived in Japan yesterday and
we had a meeting this morning. | am sure he is very tired. So, Dr. Bongaarts,
please do sit down if you wish and relax. Thank you for having your timeto come
to JICA.

Today we have alot of audience. We have popul ation experts from academics
and also from the media. There are many people representing here. I'm sure that
al the members here are very much interested in the population issues. Now we
would like to start the question and answer session.

Now we would like to start the second round of this session here. In the first
round Dr. Bongaarts has talked about future popul ation trends and has focused
on seven issues. His explanation of these issues was very extensive and easy to
understand. He has also referred to anumber of policy optionsthat can be achieved.
And at the very end, he mentioned that we have a wide diversity of population
problem and yet the solutions are available. In other words, action is needed. And
that iswhat is described in his conclusions. Based on what we have heard, we
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would like to solicit questions, comments, anything related to any of the subjects
of your interest. | have had talked with Dr. Bongaarts over the past two days and
| found that he has very long experience and I’ m very confident to say that he can
response to any question and any issue that you may liketo raise. So it could be
very specific, very specialized or very simple question, anything will be welcomed,
anyone?
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O Questions and Answers
Q1

| would like to ask Dr. Bongaarts the following question. We see low fertility
continuing in the industrialized countries. Japan has a combination of low fertility
and aging of the nation. Japanese government made policies on low fertility and
budgeted for it. Yet, it doesn’t seem the policy has worked well. | think they have
cometo adead-lock. Dr. Bongaarts, observing the low fertility intheindustrialized
countries, do you think that this phenomenonisinevitablein the historical process,
or if fertility levels were under replacement level, would there be any specific
policies that the government could take in order to increase the fertility?

Al: Dr. Bongaarts:

You are quite correct in pointing out that fertility is now below two childrenin
most industrialized countries. Actually an important exception isthe United States
where fertility is about two. But in Japan and a number of European countries,
fertility isvery low, on average about 1.5 births per woman. The question is what
we can do. Thefirst thing | should note is that the numbers that you read about in
the newspapers are not actually quite correct. When the so-called total fertility
rate is published by statistical agencies, they are of course, accurately reported,
but the numbers have to be interpreted carefully. There is a distortion effect of
delayed childbearing that depresses the fertility rate observed in aparticular year.
So the actual number of children that women are bearing is a bit higher than the
number that is normally published. Thisistruein most developed countries. Let
me say afew more words about this. When you say women are having so many
children, what you normally mean is that the government has estimated that
number for aparticular year, 1998 for example. Unfortunately, you cannot measure
the number of children women have over their lifetime in one year. It is not
possible. You can measure the number of children for women who are born, say,
in 1950 and when they are 50 years old you can find out how many children they
have. The problem is that fertility estimates for these women who did most of
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their childbearing in the 70s and 80s is not very useful right now. So what
demographers and government officials do islook at the rate of childbearing in a
particular year and assume that women have this current rate of childbearing at
every age. Thisresultsin ahypothetical number that isimplied by current fertility.
That hypothetical number has an error in it when the mean age of childbearingis
rising. This error is of the order of two, three, four tenths of a birth in most
countriesin the developed world. | think the total fertility rate in Japan is now
about 1.3. But the cohort fertility is about 1.6 or 1.7. So the average woman has
more children than it appears. The number is less than two to be sure but it is not
1.3. The sameistruein most European countries. So that isthefirst point | would
like to make. The situation is not as grim as it looks.

The question then is: what will happen next. Here | should point to statistics on
preferences. In every survey donein adeveloped country that I’ m aware of women
say they want about two children. | don’t know what the desired family sizein
Japan is. Maybe Dr. Kono can tell us; ... 2.1, exactly the same. So Japanese women
want 2.1 children but they are having only about 1.6 or 1.7. So what we need to
do ismakeit possible for these women to have the number of children they want.
The reason why they don’t have 2.1 children is that they may not find a husband
or they marry and then end up with a divorce. Or they may have a career they
won't want to give up. So women have to make choices between a career and
childbearing. That isthe dilemmathat women in every country face where labor
force participation is high. In countries where these two aspects of women'slife
are made easy, for example in Scandinavian countries, that is where fertility is
highest. Where women are permitted to combine a career with being a mother,
where women can work part-time, where there are child care facilities at work,
that is where fertility is closer to two births per woman. In other societies, in
Germany and Italy for example, there are institutional factors that makeit difficult
for women to have two children. For example in Germany, schools close early in
the afternoon, so a woman who works cannot easily take care of her children,
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bringing them to and from school. All of these issues can be addressed and there
are examples of societieswhich, infact, giveincentives. For example, in Sweden,
the fertility rate was 1.5 or 1.6 in the 1980s. In the late 1980s, the government
provided incentives and fertility went back up to 2 births per woman. This policy
turned out to be expensive and the government decided to remove the incentives
and then fertility dropped back to 1.5. So, it can be done. The question is how
much resources you want to devote to thiswhich isaquestion of priorities. Women
are willing to have more children than they have at the moment.

Mr. Ozaki:

Thank you very much. We will move on to the next question. You can ask your
questionsin either English or in Japanese, but please tell usyour affiliation before
asking a question.

Q2:

| have afew questions. | have been working in the field of ODA, Official
Development Assistance, in developing countries. So | alwayswonder what would
be appropriate population level, which can be supported of the earth. | think the
present population, | mean world population, somewhere around 6 billion, would
probably be hitting the ceiling that the earth can support. If this being the case, as
you just told us the future sort of projections definite for sometime to come,
population increases. And then in some cases | mean one of the three cases,
increases exponentially and then mid course and then some will go down a hit.
But anyhow, for sometime to come, | should think that the population increases,
which means that we would be having a very serious problem on the earth, food
wise, environment wise, what else, | mean even all the environments and living
conditions and standards and everything. Now this being the case, | really wonder
how we should control the population on the earth. | have experiencesliving in
some devel oping countries. According to this, it is almost impossible to control
population even if the government tries very hard, for instance if they try to
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decrease fertility. Chinamay beis an exceptional case. But Indiafailed. | have
lived in Indonesia for three years, in Cairo, Egypt. In those two countries, the
governments actually are not paying so much attention to population control.
And there are no possibilities to my mind that they would control the population.
At least, | mean stabilized level of population. Definitely, the population grows.
But this being the case, | mean we would be expecting some catastrophe in the
very near future. | mean we want to live a decent life on the earth. We have to
share everything. But even if we share all the wealth on the earth and yet we
would be facing a very serious problem. We would be probably destroying
ourselves. So how do you think about that?

Another question is somehow down to the micro level. JICA istrying very
hard to give technical assistancein the field of population control. Our institution
isnot doing very much. Yet thisisavery sensitive issue, so in terms of the projects
and programs, what the devel oped countries can do isareally big question. Itis
not that easy. We have to work very hard in order to stabilize population at the
present level. If you have any comment on that, | would be very glad to hear that.

A2: Dr. Bongaarts:

You haveraised several hig issues. Let me start by talking about this view that
we are going to run into trouble. We are aready in trouble. In 1960 we had 3
billion people and we have added 3 billion more. Many people are now living
poorly. Environmental problems are everywhere, we are running out of water,
poverty and malnutrition are widespread, and there is no question that these things
are happening in part because population growth is so rapid. As| showed, we are
going to have more people in the future which means that these problems will
become more serious. Thereis the biological concept of carrying capacity. |
have adlightly different view of this notion of carrying capacity. | don't believe
that it istrue that we will runinto a ceiling and then suddenly we will crash. That
perhaps applies to certain biological species. But humans are adaptabl e agents
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and can make life work even if countries are very crowded. We are supporting 6
billion right now. We can even support 10 and possibly even 15 billion people.
But the world with 15 billion people would be a less desirable world than one
with 10 or with 6 billion. So, the sooner we can stabilize, the better, particularly
in the devel oping countries. The food situation is already serious and malnutrition
iswidespread. In India, morethat half the children are, by international standards,
malnourished. These are problems that are likely to get worse. The question is
what we do about this. Many governments have already tried. But the priority
and the resources given to the population problem are miniscule in most cases.
Out of overall development assistance | think only 1 or 2% goesto population. If
you look at government budgets, the proportion that is actually provided for
population, isalso only 1 or 2%. A few countries do alittle bit more. It is often
not a high priority and thisisin part because it is a controversial issue in many
countries. What can be done are some of the things | have mentioned. The
international community and the richer countries can provide resources. Just the
purchase of contraceptivesis something that ishelpful. Many countriesaretrying
to implement family planning programs. They don’t have enough resources to
build the clinics, to provide personnel and transportation and so on. The other
thing | think important is to persuade the governments of poor countries that
population is an important issue. In many countries, not much happens because
the government doesn’t care. Much depends on the extent to which we can
convince governments to pay more attention to this.

Mr. Ozaki:
I’m sure that this discussion will continue, but we would like to give others a
chance to ask questions.

Q3:
Well, having heard the two questions, what happens now isthat in Parliament,
they are debating the budget for the next fiscal year. | did follow up with what the
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gentleman asking the first question has said already but when it comes to low
fertility, the Health and Welfare Ministry has set up some 14 policies, strategies
to increase the population here in Japan. And we are opposed to that. It isnot a
minority opinion. | think that there are a number of people in Japan sharing the
same opinion in the newspapers when they report on low fertility. There are quite
afew people who say that we can |eave everything unattended. Now the reason
why low fertility is a problem is because we, the Japanese people, the ministry
and the government, are fear that they will not be able to keep pace with the
industrialized nations, the other nations. But | don’t think that is a problem. We
don't haveto keep pace with other industrialized nations. As you mentioned earlier
the case of Sweden, in Sweden the populationis 8 million, it islessthan one tenth
of Japan and yet it isamarvelous country. The land areais several times larger,
1.3timeslargeritis. In any case, the land areaiis larger than Japan. | think that in
the future, rather than trying to increase the fertility rate will lead mass production,
mass consumption and mass discharge. Now this mass production, mass
consumption and mass discharge, rather than saying that it is mass production
and yet mass non-consumption. Whether it will be food or electrical appliances,
we don’t useit. We throw away these things despite the fact that we can still use
them. So there are alot of things that we discharge though there are still usable.
And | think this related to the population increase.

Now Japan is experiencing the aging of society, Japan is the number one aging
society and we are experiencing low fertility. But | would like to appeal to the
Japanese government that low fertility is sustainable, | mean we can do with it
and face up to thislow fertility. | don’t think that productivity will increasein the
future. And even if this society ages, well you are talking about the dependent
population increasing. Well that is only natural that this happens if the aging of
society takes place but there are robots and others to compensate for that. So we
can produce enough. So we could say that the population could drop to 60 million
or something and it could be that, well you said that in 2100 there will be adrop,
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but I think that even if the population drop to half, we can still survive herein
Japan. And | think the biggest evil on the earth is population. Thisis the cause of
many problems. So we have to try to set an example that we can do with thislow
fertility.

Well another reason why the population isincreasing is because there isthe ES
cell transplantation. In order words, we seethat thereisavery rapid advancement
in medical technology. And thisis contributing to the increase in population. |
personally think that if we were to further advance in medical technology, this
will only lead to the increase in population. What is your opinion about this?

A3: Dr. Bongaarts:

It isdifficult for me to comment on the specifics of Japanese policies because
I’'m not very familiar with them. Let me just make a general comment about what
industrialized countries can do. | think they have more options than they often
realize. There are three trends that will become more widely discussed | believe.
In most industrialized countries, fertility has been low for 25 years now. This
hasn’t created a huge public discussion and not many governmentsin Europe or
in the US have taken specific actions to change that. One reason why thisissue
hasn’t raised much of a debate isthat population growth still continuesin nearly
all of these countries which is dueto the population momentum | discussed earlier.
But momentum is now dissipating and population decline will begin in most
industrialized countries in the next decades. That | think will get the attention of
many people. The reason why the government might consider addressing low
fertility is not, to my mind, primarily population size but rather the population
aging that results from low fertility and the fact that low fertility is not consistent
with what women want. My preference would be to give women more optionsto
implement their preferences. That would be an improvement in human welfare
and would have the beneficial effect of reducing the speed of aging. Population
declinewill lessen. The level of population itself is, | think, unlikely to become a
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target of population policy in most developed countries. But on a global scale,
there is no reason we need more people who are very rich because they consume
an extraordinary amount of natural resources. So if | had amagic wand and could
lower population size, | would probably wave that wand. | think that would be to
everyone's benefit. | think Dr. Kono has a question. Dr. Kono, please.

Q4.

| would like to add a couple of things to the very good introduction that Mr.
Ozaki made. In demography, we have “proximate determinants”. The term,
“proximate determinants’, is very important and on every textbook. | have written
about it myself. But he has made that contribution to demography. So we look at
all the biological factors and these | have divided into four, and thisis awonderful
theory and a major contribution. Secondly, family demography may not be the
right term. But family demography is a special field of demography and Dr.
Bongaartsis one of the founders. | believeit wasin 1983 that we had a seminar in
New York on family demography and Dr. Bongaarts at that time spoke about the
very complex factors of family using a macro simulation and | think this was
really the first simulation, abreakthrough theory in demography. Thirdly, he spoke
earlier about unmet needs. Unmet needs are a term that we seem to know but
which we really do not know very clearly. It isarather vague concept and | think
Dr. Bongaarts was the first person to give us a definitive description and definition
of what really unmet needsis. So academically, he has made major contributions
to the field of demography. Andin PAA, he hasreceived an award. | believe the
award he received was the Mindel Sheps Award from the Population Association
of America, which in the field of demography is a very important award.

WEell | think I’m speaking longer than everyone else. | would like to thank Dr.
Bongaarts for covering so much ground in only 50 minute-lecture. | think it would
have taken me more than 2 hoursto be able to explain or try to explain these. And
he was ableto explain all of these very concisdly and precisely with very beautiful
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slides.

My question concerns fertility trendsin figure 5. Here, in fertility trends, you
said that in the devel oped world, thereis aconvergenceto 2.0, the net replacement
level that they will always turn and converge to the replacement level. But | do
believe you said that thisis controversial. What do you think? This is the UN
projection. Isit going to continue at about 1.7 and stabilize? Is it not going to
returnto 2.0 ever? And the UN is carrying out this projection but this seemsto be
rather formalistic. According to some people, in Africaand other nations, it seems
very strange that there will be a convergence, and that thisisjust fiction. Because
we can't imagine that al of the nations converging at asingle point like this. That
ismy first question. Where do you think it will level off?And | think in 1994, in
Cairo, the ICPD, the International Conference on Population and Devel opment,
whichisheld in Cairo in 1994. At that time, reproductive helth and reproductive
rights were stressed about women rights and women empowerment, which was
the slogan, the keyword for that conference. So the women empowerment is the
best contraceptive | think that was with this dogan. Isthat true however? Because
| have some doubts about whether the programs that were established in Cairo,
the Cairo Document, the Program of Actions, etc. are they really being taking
place, are they really being effective? Has Cairo had any major effect on trends
worldwide? And I'm sure that there is the question of resources that we don’t
have enough funds being collected for this.

Secondly, with unmet needs, the Cairo Declaration did not really address this
issue of unmet needs of women. They were not really talking about the needs of
women but they aretrying to address unmet needs. But then what are those needs?
We really perhaps need to elaborate, need to really analyze what the needs are.
And we seem to refrain from this without really delving into the issue. There are
many more things | would like to say.
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Mr. Ozaki:
Thank you for giving us a further introduction of Dr. Bongaarts. And we look
forward to an answer from Dr. Bongaarts.

A4: Dr. Bongaarts:

Thank you Dr. Kono, you raised several excellent questions. Let me begin by
addressing the first question you raised, about the convergence of fertility trends
worldwide. Thisisatopic about which | could talk for along time. But let me just
giveyou afew main comments. | think that it isvery unlikely that every country
will end up with afertility rate of 2.1 fifty years from now. | can assure you that
is not going to happen. The problem isthat it is very hard to predict where fertility
will be alittle higher and where fertility will be alittle lower. The assumptions
made by the United Nations, by and large, | think are reasonable. If | had to redo
them, | would probably not do anything very different. | am also speaking here
for a Panel of the National Academic of Sciences that recently reviewed these
projections. The panel inwhich | wasinvolved basically said that the projections
aremore or less right. That doesn’t mean they are going to be right. They could
very well bewrong but it is not clear now where they will be different. There are
two separate questions. Thefirst oneiswhether the devel oping world will continue
its fertility decline and will end up around 2.1 births per woman. There is no
doubt in my mind that fertility will drop further. But the United Nations projection
that every country will go straight down to 2.1 births per woman is probably
unrealistic. Maybe it will stop for alittle while for afew countries. But in the
long run, it will drift down to 2.1. Now if you are talking about the developing
world, you are basically talking about the very large countries. India and China
account for something like half of the developing world. So what happens in
these countriesis really the critical issue for the devel oping world asawhole. In
India, | have difficulty seeing fertility dropping below two. And | even have
difficulty believing that it will be 2.1 ten years from now. But | can imagine it
happening 25 years from now. Some states of India aready have low fertility.
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But there are poor parts of India, which will take much longer to reduce fertility.
Chinaisavery different story. You all know that China has a one-child policy
which has brought about a two-child family. Few people realize that the one-
child policy isnot rigorously enforced and that on average, women in Chinahave
closeto 2 children, maybe 1.8 or 1.9. There are many exceptions to the one-child
policy and some people break the one-child policy and have to pay a modest
penalty. Thereis no doubt in my mind that if the Chinese government were to
remove the one-child policy, fertility would go up. If fertility is 1.8 or1.9 today,
then without the one-child policy, it would be clearly something like 2.5. So |
think fertility would not be above replacement in Chinatoday if it were not for
the one-child policy. The question really is whether the one-child policy will be
continued. | think it will be but it will be watered down further. The one-child
policy has become much less strict over the last ten years. Over time, people will
either break rules or the government will relax or not enforce the rules. So over
time, Chinawill be drifting away from arigorously enforced one-child policy to
aloosely enforced one-child policy to a one-child policy that doesn’t really exist
anymore. And that puts upward pressure on fertility. | wouldn't be surprised if
China ends up near 2 in the next ten years or so. | don’t see China going much
lower and it could go up. That isthe developing world story. Then the questionis
what will happen in Europe, Japan and North America. The United Nations expects
asmall increase and they have gotten alot of criticism for assuming that. But |
think there are good reasons for believing that we are now close to the minimum
infertility. Japan may well stay at thislow level but it also could go up alittle bit.
It depends on what happens next in anumber of areas. Two factors are important,
the first is the extent to which it will become easier for women to combine
childbearing and work. That requires reforms in the workplace, government
incentives. | think that will happen at least to some extent in most of these countries
and fertility will then rise because women want two children. They are not having
two children but they want them. But they can’t manage right now. And if
governments or companies make it easier, | think people will have more children,
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alittle bit more. The other reason why | believe fertility will go up alittleisthat
this distortion of the fertility rate | mentioned earlier is maybe two or three tenths
of abirth. That distortion will eventually go away. The reason isthat this distortion
istheresult of delayed childbearing and delaying cannot go on forever. The mean
age of childbearing has risen from 25 to 30 years but it cannot go to 50. It may go
to 33. But eventually it will stop going up, and then this distortion will disappear,
and fertility will go up alittle bit. So these are the reasons why | think fertility
might go up. On the other hand, if a country staysin recession or if we have a
worldwide recession, then of course, there may be further declines in fertility.
The United Nations projections in my view, are reasonable. Not necessarily right,
but reasonable. Now you have another question about the Cairo Conference. |
think the Cairo Conference was alandmark in the population field in the sense
that it raised awide range of issues. The emphasiswas less on popul ation concerns,
population growth, and popul ation size and more on awider range of issues. such
as reproductive health, women’'s empowerment and so on. The Conference has
invigorated a variety of organizations:. women'’s groups and nhongovernmental
organizations (NGOs). There are now a lot of activitiesin countries by these
NGOs and that is very desirable. Microcredit for example, is an intervention that
helps reduce poverty. And we see a variety of these types of interventions. What
| think not a desirable outcome of the Cairo Conference is that governments now
pay less attention to rapid population growth. So, family planning programs are
not being strengthened. They are actually losing priority at the highest policy
making level making in some governments, and in some international
organizations. Because Cairo didn’t emphasize these issues, they are becoming
less and less visible. So, there are pluses and minuses to this process.

Mr. Ozaki:

WEell we are running out of time here but we didn’t have any questions from
the ladies here. Could we give a chance to the lady over there to ask a question,
please?
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Q5:

| would like to thank you for your wonderful lecture here today. Last year at
the Kyushu-Okinawa Summit, there was discussion about the GM technol ogy,
Genetic Modification. What sort of implications will this technology have on
population issue? Whether this is allowable or not, this technology is going to
advance and eventually there will be cloning of human, at least there is the
possibility. Thereis apossibility of cloning of human. And such technology has
already been developed. Children born thisyear, in their lifetime might experience
such things. There are many researchers who predict such things. But one thing
that we could consider isthat amidst the low fertility rate, supposing that acouple
loses their child in atraffic accident and because the mother is so depressed
someone might suggest to clone a child who looks like hers, this might advance
this cloning technology further. Then eventually wewill see gene-rich technology.
In other words, gene-rich humans versus the natural humans, and there might be
a differentiation between the two groups. If that happens then the population
issues that we understand will totally change and something that we can’t imagine
whatsoever might happen. So do you have any observations of thisissue?

A5: Dr. Bongaarts:

You areright. There are now a number of very important trendsin biology that
have a potential impact in population. My assumption is that human cloning will
eventually happen but | have my doubts that it will have any large impact on any
of thetrendsthat | havetalked about. It is simply going to be much too expensive.
The other reason is that there will be moral and other objections to this. There
will be an extensive ethical debate about human cloning but for simple practical
reasons, it is not going to have much of a direct impact. There are some other
trendsin biology that | think will have animpact. I’ m referring to technology that
will help infertile women have achild. About 5 to 10% of couples cannot have
children or have difficulty conceiving after they have had one child. So new
biological technology could make it possible in the future for infertile women to
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have achild or for their ovum to be implanted or for sperm of her husband to be
used. So avariety of technologies, which are already feasible right now will help
infertile couples achieve their fertility goals. To the extent that the technology
becomes widely used it will have a positive impact on fertility. Yet another
biological trend is that every year we discover new ways to reduce mortality, to
make people live longer. We have discovered genes in insects and mice that are
associated with aging. It is quite possible that 10 to 30 years from now, we will
find biological waysto slow the aging process substantially. And that could have
aradica impact on population in thelong run. So there are likely to be biologica
surprisesin the future that | think we may not be totally prepared for. Thank you.

Mr. Ozaki:
Would you like to ask a question? Could you do so briefly, please?

Q6:

| would like to ask about AIDS epidemic. You mentioned that in Africa, AIDS
isvery prevalent. But looking at figure 11, it really struck me as to the rate at
which the epidemic is spreading and yet there are countries which are successful
in controlling AIDS. So what sort of control methods do they have? Could you
explain about why they are so successful ?

AG6: Dr. Bongaarts:

The two countrieswhere successful efforts have been madeto dow the epidemic
are Ugandaand Thailand. If | had to summarize in one word the reason why these
countries were successful it is because these governments care. The governments
understood that AIDS was a serious problem and decided to do something about
it. Thisis very different from many governments, particularly in Africa, which
ignore the problem. They don’t talk about it, and they don’t raise the attention of
the public toit, which is a mistake because the epidemic is spreading rapidly. The
precise measures taken by each country differ, of course. In Thailand much of the
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spread of the epidemic was concentrated in brothel swhere progtitutes were infected
by customerswho in turn spread the virus. The government simply required that
every prostitute use condoms. Any brothel that didn’t accept this was closed
down. The government rigorously implemented this policy and it was very
successful. In addition, the government had very open discussion of the causes of
this epidemic and encouraged everyone to use condoms and avoid sexual contacts
outside marriage. These measures apparently have been accepted by the public
and that reduced the infection rate. The Ugandan government did something
similar. Basically what you have to do isto scare the population into taking action.
You haveto tell them that if you don’t take these actions, half the population is
going to die. That gets peopl€e's attention and they change their behavior. They go
to prostitutes less frequently. They use condoms. These actions together have
been effective in these two countries. There is no doubt in my mind that if
governments elsewhere in Africa did the same thing, the result would be the
same. Because the actions needed to halt the spread of the epidemic are
controversia, it isnot easy for some governmentsto take action, but it isobviously
in theinterest of the population. Thank you.

Mr. Ozaki:
Thank you very much everyone. We have to end pretty soon. We would like to
have comments from a few more people and we will end there.

Q7.

Since there is not much time, | would like to give you some brief comments.
Demography, the study of population is very important because the nation and
religion and many other parties areinvolved. | believe that the government has a
major roleto play and it isreally up to the government. This question is whether
the government isreally interested in thisissue or not. We have many people who
are representing. The people may be local politicians, they maybe national
parliamentarians. But | think that once these parliamentarians and representatives
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of the people wake up to the issue then they can make a difference. | think if they
are not doing their work then we have to beat them into working harder. So |
would like to say that my organization is trying to get the parliamentarians and
the politicians to act and we are trying to persuade them in carrying out activities.
| would hope that Dr. Bongaarts, if he has opportunity, would tell our politicians
to be alittle more dert to the issue.

Secondly, | think that the actual executions of the services whether it is family
planning or whatever, | think that we should make it available and understandable
to the general public. So all population issues come down to contraception, these
should be more understandable to the general public.

AT: Dr. Bongaarts:

| agree with you. The politicians in many countries, the representatives of the
people, should raise these issues at a higher level. Unfortunately, there are not
many interested governments and some are not very aware of, or don’t always
care about the issues as much as they should. It is difficult for demographers to
get involved with that. I’'m aresearcher at heart of course, so it is difficult to
communicate with politicians directly. | try to do thisthrough avariety of means,
publications etc. On the issue of contraception, | would like to just remind you
that we have come avery long way in the last 20 to 30 years. In the 1960s, most
people thought it was impossible to even mention the word contraception in a
polite debate. And now, in most countries, it is no longer a taboo subject, there
are family planning programs, and a large number of people are using
contraception. Thisis avery salutary development. Lack of access to family
planning is still a problem in many devel oping countries, in Africain particular.
But all of these things are changing and we should try to encourage these changes
as quickly as possible. But we have already made alot progress with the efforts
we made so far. The international efforts have been very important in making
that happen and | hope that will continue. Thank you.

-55-



Q8:

| would like to ask you a question about policy options in aging society.
Increasing migration was one of the issues. This choice is not very popular in
Japan. People are trying to carry out adjustment like raising the retirement age,
encouraging women participation in work places. So mainly, the immigrants are
working in what are called the 3K jobs, and also it isthe illegal immigrants who
are doing these works. And also international pressure is maybe asserting for
Japan to increase immigration but Japan is carrying out rebuttal. But now | think
that Japan will have to bend to international pressure. What is your comment
about replacement migration, which is proposed by the United Nations? What is
your comment? What will be your comment about this report from the UN? |
think thisreport may beworrying about countries|like Japan. What isyour personal
opinion about the UN report?

AS8: Dr. Bongaarts:

The United Nations Population Division recently published a report, which
calculated the number of immigrants that would be needed to keep the labor
force stabilized. Basically the notion was that for countries that have low fertility
and arapidly aging population and population decline, immigration is an option.
This was examined in some detail in this report. My comment on the report is
that there is nothing wrong with the calculations of course, and it certainly drew
the attention of many people in the developed world to the issue of migration.
But it isabit simplistic to say that migration is a solution to the aging problem.
There are many options that each country can pursue in response to low fertility
and rapid aging. And different societies will select different sets of options. |
listed six different possible answers in my lecture. There is nothing in principle
wrong with Japan saying we do not want to increase immigration. Instead, it may
raise the age of retirement or make it easier for women to work in the labor force,
or give women incentives to have more children. You don’t have to accept
immigration as one of the solutions as far as I'm concerned. Different countries
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will come up with different answers. The United States, for example, has apolicy
to accept much more migration. Millions of people every year are added to the
US population which helps keep the popul ation younger. That is one reason why
the aging trend for the United Statesis not as steep asit isin Japan and Europe.
The US made a decision to accept immigrants. Japan may or may not. Europe has
different policiesin different countries. There is growing resistance to increased
immigration in Europe. Many European governments are now putting restrictions
on migration. So my guess is that legal migration will probably decrease even
though illegal migration may well increase. Each country should choose its own
options. Let me add one final observation. In general, migration improves human
welfare. That is, it improves the welfare of the countries and of the people who
are migrating. Migrants move to a place where they have better jobs. Itisalso, in
generd, in theinterest of the wealthy country that receives these migrants. These
people do jobs that many Europeans or many Americans or Japanese don’t want
to do. They often work at low wages and strengthen the economy of the receiving
country. So it isawin-win situation. There are reasons why a country might not
want too much migration and you are aware of those. But generally speaking,
from a purely economic point of view, migration is something that is not
undesirable. Thank you.

Mr. Ozaki:

Thank you very much indeed. We have run overtime by some ten minutes but
| do think that we have had a very meaningful discussion here. Once again we
would like to express our thanks with applause to Dr. Bongaarts. And also, we
would like to express our thanks to the interpreters, thank you from your
interpreting. JICA would like to hold the series of meetings on this issue of
population. So we encourage you to continue to participate. And once again,
thank you very much.
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